Solutions Mid Term Review

1. 
a) A


b) B


c) A


d) C


e) A
2.  
a) F


b) T


c) T


d) T


e) F

3. 
a) 11


b) -1


c) 2

4.
 a) T


b) F


c) T


d) F
5. 
point

6. 
line

7. 
point

8. 
C

9.  
Yes
10. 
a) B


b) none

c) P

11. 
a) vertical angles
b) complementary angles
    
        c) adjacent & supplementary angles

12. 
a) SSS      
   b) ASA or AAS    
c) SAS

     d) AAS
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13.  1.  A, B, B and R are collinear

1. Given


AF = RB, 
[image: image13.wmf]R

A

Ð

º

Ð


, 
[image: image14.wmf]2

1

Ð

º

Ð




       2.  AB = FR




2.  If 2 segments are equal and 








an equal amount is subtracted 








from the end of each segment, the 








remaining distances are =

       3.  
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3.  ASA

       4.  AN = RH




4.  If triangles are congruent, 









corresponding parts are =

14.
a) alternate interior angles, congruent


b) 
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c) corresponding angles, congruent


d) 
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e) interior angles, supplementary


f) 
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15.
18


10

16.
a) 38°

b) 38°

c) 92°

d) 50°

e) 50°
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17.
1.  AD = AE             1.  Given
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2.  
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2. In a triangles if two sides are 





equal opposite angles are equal


3. 
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3.  Substitution steps 1 and 2


4.  
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4.  If the corresponding angles are =, lines are 
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18.  m
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1 = 50°
m
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2 = 35°

m
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3 = 125°

m
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4 = 55°

m
[image: image32.wmf]Ð

5 = 125°
19.  a) all

b) all
  
c) Rh, S

d) all

e) Rh, S

f) all


g) Rh, S
h) R,S
i) R,S

20.
20 units2
21.  
486
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cm2


22.  6 units2
23.  AB = 25
BC = 7

24.   a, c, e, f


c, e
25.  
a) yes

b) yes

c) no

26.  
a) 12°

b) 168°

c) 12°

d) 360°

e) 5040°

27. 
20

28.
a) 360 cm2

b) 56.25 cm2

29.  12
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30.  920 ft2

1200 ft3
31.  a) 
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b) 
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c) y – 98 = 
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(x – 23)   OR  y – 87 = 
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32.
a) Reflection over the line y = 0 (x – axis) 

b) Rotation of -90°; center (0,0)


c) Translation; magnitude 
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d) Reflection over y = -x line

33.  Parallel, translation (slide), double, parallel, direction

34.
Rotation, first line, second line, double the rotation of the first line to the second line

35. 
c

c2

c3
36.  
[image: image40.wmf]117


37. 
-90° rotation center (0,0)

38.  Translation    (x – 8, y)

39.
Size transformation 
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 center (0,0)

Reflection over x = 0 (y – axis) line


Rotation 90° center (0,0)


Translation magnitude 5

40. 
function

domain

range

41.  no


yes
domain: 
-4 
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range:
0 
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yes
domain: 
(-2, 1, 2)


range:
(2, 1, -2)


yes
domain: 
all real numbers (R) or 
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range:
all real numbers (R) or 
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42.  a) 12

b) 14

c) (2x + 6)2
43.  y – 7 = 12( x + 8)

44.  y + 3 = 
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(x – 2)     OR     y – 5 = 
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46.
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48.  
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real numbers

49.  
a) [image: image56.emf]0
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b) [image: image57.emf]5 0

c) [image: image58.emf]3
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50.  
a) -9

b) (-4,5)

c) 
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d) -31

e) no
51.  5 
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53.  The second 53!
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68% between 25 and 45


2.5% above 55 mph

54.  Minimum = 34


       Quartile one (lower quartile) = 45 

       Median = 56 

       Quartile three (upper quartile) = 65.5 

       Maximum = 87

55.   true


If two angles are supplementary, then they form a linear pair.   False


If two angles are not supplementary, then they are not a linear pair.  True

Two angles from a linear pair if and only if they are supplementary.  False

56.  biconditional

contrapositive

57.  SSS (sides are proportional)  
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58.  SAS 
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    If lines parallel, alternate interior angles are =
EG = 12.5



    AC = 8.75      DB = 9.6
GEOMETRY VOCAB:

1. right                                           
2.  vertical angles


3. angle





4.  adjacent angles


5. obtuse angle


6. linear pair (supplementary isn’t specific enough)


7. angle bisector


8. supplementary angles


9. the INTEGERS (Z)


10.   complementary angles


11.   acute angle


12.   perpendicular rays, segments, or lines


13.  the NATURAL NUMBER set (N),  or COUNTING NUMBERS


14.   the definition of a RATIONAL NUMBER


15.   intersection


16.   congruent 


17.   perpendicular


18.   is NOT an element of


19.   is a subset of


20.   union


21.   we’ll do in class (
�





� EMBED Equation.3  ���


 90 = 12x


 7.5 = x


Area = side2


 = 7.5 units2
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